Olympiad 2019
Class 1
Important Information

» All questions carry equal weightage.

» 10 minutes are provided for filling the OMR sheet and reading the instructions.

» Exam duration is 1 hour only.

> Please ensure that this question paper has 50 questions.

» ltisdivided into the following sections —
e For class 1st to 5th: Mathematics, Science, English and General Knowledge
e For class 6th to 10th: Mathematics, English, Science, General Knowledge and

Logical Reasoning

» Every question has one correct answer.

> Please read the instructions for answering given on the OMR sheet.

» Candidates must submit a completely filled OMR sheet before leaving the hall.

» There is no negative marking.

Section — A (Mathematics)

1. Avni wants to buy an ice-cream which costs 230. She has only ¥13. How much more
money would she need to buy the ice-cream?
3T U 3P WIS A8 &, Forges! #1ud 30 308 8 1 9P UTT had 13 T
g1 3 SMTSHDIH Wla & oy fava SR O =gy gire
A. 343
B. %27
C.17
D.X18

2. The length of one pencil is 8cm and the other is 13cm.
The total length of the two pencils is
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13 cm

A. 20cm
B. 21lcm
C. 5cm

D. 19cm

Find the missing number.
ATl AT T UdT M |
_ x8=16

A.3

B. 128

C.4

D.2

. Which basket has the maximum number of apples?

BASKETA BASKETB

BASKET C

B. Basket B
C. Basket C
D. Both Basket A and C have equal apples
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. Which of these are arranged in ascending order?
3T § P RIS HH H oIafyd g2

A. 5cm, 7cm, 4cm, 6¢cm

B. 2cm, 4cm, 7cm, 5cm

C. 3cm, 6cm, 9cm, 12cm

D. 8cm, 6¢cm, 4cm, 2cm

. How many lines are used to make the given image?

3 1S B FM & e fhat ArgAt 1 IuanT far mar g2
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A.3
B.9
C.7
D.11

. Complete the given sequence.

AU T 3feh T DI [T B |
45,51, 63,69
A.52

B.55

C.57

D. 54

. Sam buys a pencil for % 3, a pencil box for X 40, an eraser for X 2 and a box of colours for
% 30. Find the total money he spends on buying all the items.

I 3 390 § U R, 40 YT H U IR ST, 2 30T H Ueb 3I9R 31K 30 30T H
T 1 T Sia Wiigd ¢ | I+t axgaft &) Wiien W W by ¢ $d U &1 Ul
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A. %70

B.X75

C.%73
D.X72




9. Ravi has 85 chocolates. He wants to put all these chocolates in two boxes. He puts 40
chocolates in one box. How many chocolates would he put in the other box?

33 % U 85 Tl & | 98 34 Tt didale & &l Siay | STl I1gdl ¢ | 98 Th
Siaq T 40 Tlhale SIAdl ¢ | I8 SR dIa H foa-t didbale STaTm?

A. 40

B. 45

C. 125
D. 35

10. Sam, Ritu, Bob and Zia participated in a race competition. From the image given below,

who is at the third position in the race?

RITU
SAM ZIA BOB

Finish
Line

A. Zia
B. Bob
C. Sam
D. Ritu
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SAM RITU BOB




11.

12.

13.

How can we partition 87 into tens and ones?
A. 87 =8 ones + 7 tens

B.87=80+7

C. 87 =8tens + 7 ones

D.BothBand C

BH 87 &I GBTs 3R SBT3 A HY fAHIITIT FR Iohd &2
A.87=83®HI3 + 738

B.87=80+7

C.87=8Ggl5 + 7 3HlS

D. B 3R C gl

Find the missing number.
AT ST DT UdT T |
100- =67

A. 37

B. 167

C. 43

D. 33

How many triangles are used to form the given shape?

& 718 3Mepicl S o forg fobam Bryt o1 ST foban a2

JAVAN
VAV

A.3
B.6
C.5
D.4




14. Which of the following statements is incorrect?

15.

A. Sum of 3, 4 and 8 is equal to 15
B. The difference of 23 and 13 is 10
C. 34 has 4 tens

D. 41 comes after 40

fofad & @ &9 1 By 79d 82
A. 3,4 3R 8 BT AN 15 SRR &
B.23 3R 13T 3R 108

C.34H4cER G

D. 41,40 % SIS 3T 2

Which of the shapes is missing in the given image?
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A. Circle

B. Triangle
C. Square

D. Rectangle
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Section — B (Science)

16. A plant is given below. A part of the plant is not labelled. Which part of the plant is not
labelled?

FRUIT

STEM

ROOT

A. Branch
B. Seed
C.Bud
D. Flower

T & $o oWl 1 Bfd H faE 3uR dad forar a1 g | UiY &1 U fex aad
el forar T 8 1 I & oy U IR oed 718t g2

A. TRaT
B. dioT
C. ol

D. Bd

17. Which part of our body helps us to smell food?
A. Ear
B. Nose
C. Hands
D. Eyes



18.

AR YRR FT S A1 g1 g1 HIvH DI Jo T AGE HRdl 872
A. BT
B. 1%
C. 1Y
D. 3fid

| eat chicken, fish and eggs. | am a

A. vegetarian

B. eggetarian

C. non vegetarian
D. vegan

H fyep, Il 3R S @1 | H I gl

B. 3{US &I g HI aTdll
C. HIOBRI
D. Y& YMHIERI



19. In which season do we use umbrella?

B. Winter
C. Rainy
D. Autumn

g1 5T 9199 & Sl BT U Hd 82
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A, TTHf
B. Tl
C. gyt
D. UdsIS

20. Which oil cannot be obtained from plants?
A. Mustard Oil
B. Olive Oil
C. Coconut Qil
D. Kerosene Oil

el F B9 T ad U T8t fpar S gebdl g2
A I BT dd



21. We should not waste paper as it is made from
A. plastic
B. charcoal
C. wood
D. steel

X BT daig T8 BT ey Fifeh T8 T
A. @IReH

B. ARDIA

C. Aol

D. ¥Id

A. teacher
B. police
C. nurse
D. maid

R gl




c.7d
D. grit

23. Which of these activities should we do daily?
A. Brush our teeth twice
B. Take a bath
C. Comb our hair
D. All of the above

g0 379 T o O nfafafiat ufafem st anfge?
A. &Il B Gl IR =1 B

B. | B3

C. 9T el B

D. SWRad g+t

24. Which colour of traffic signal allows you to go?
A. Red
B. Orange
C. Green
D. Yellow

2fthes RIUT BT DI TT T MU o1 BT A ST 82
A. ATd
B. AR

25. Lion produces sound.

A. Roar
B. Trumpet
C. Croak



B. stable
C. grassland
D. burrow
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27.

28.

29.

B.RRR
CAIRNIG

D. I

Is used to cross roads.
A. Crossing
B. Lines
C. Zebra Crossing
D. White Lines

I3V ISP Bl UR B & oY fman S g1
a. EﬁTIET
b. Ufgaai
c. WIeRT BT
d. e w@Td

Which of the following habits is bad?

A. Throwing garbage in the dustbin

B. Feeding birds or animals

C. Washing hands before eating

D. Waste food by taking excess food than needed

frafafead & § oF 3t sied 9 82

A. TS TF U BRI Bl

B. U3t a1 SIHaR! &1 Ry

C. M ¥ Ugd g1y YT

D. 3TALIH T T 3P HIoH AB HIvH Fafe B

You can see me in the night. I am round in shape. Who am 1?
A. Star

B. Sun

C. Moon

D. None of these

M YA AT H I IHA S| HABRAMAEI A DA E
A.dRT

B.

c.dig
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30. Select the odd one out.

Al
B. T

C. B
D. Sl

Section — C (English)

31. Identify the picture and fill in the blanks to complete the spelling.

\ BALL N
A. BALLUUN
B. BALLOUN
C. BALLOON
D. BALLOUN




32.

33.

34.

35.

36.

Unscramble the letters to form a meaningful word.
UTERTBYLF

A. UTTEBRYLF

B. BUTTERFYL

C. BUTERTFLY

D. BUTTERFLY

Three were walking in the garden.
A. man

B. mans

C. men

D. men’s

Which of the given options has the same meaning (synonym) of the word DIFFICULT?
A. Easy

B. Soft

C. Smooth

D. Hard

Read the given passage and answer questions 17 and 18:

Diwali is a festival of lights. It is celebrated by Hindus. On this day, Lord Rama came
back home after 14 years of exile. Diwali festival has an ancient origin and celebrates the
victory of good over bad. On this festival we share sweets with each other.

Diwali is the festival of
A. colours
B. fruits
C. lights
D. flowers

What do we share with each other on Diwali?
A. lights
B. sweets
C. fruits
D. victory



37. Which of the words carried by the train has two vowels?

BODY

A. Body
B. Soft

C. Brain
D. Ugly

38. Arrange the jJumbled words to make a meaningful sentence.
is name what your?
A. What is your name?
B. What is name your?
C. What name is your?
D. What your name is?

39. Fatima and Rita are best friends. eat together.
A. She
B. We
C. They
D. Both

40. Which of the given options is correct for the given picture?
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A. The dog is at the table.
B. The dog is in the table.
C. The dog is under the table.
D. The dog is on the table.
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42.

Section — D (General Knowledge)

is also called a blue planet.

A. Sun
B. Venus
C. Water
D. Earth

Select the odd one out.
A. Ludo

B. Carrom

C. Cricket

D. Chess

fauy &1 999 B
A. Sl

B. HH

C.fhdbe



43.

44,

D. T3Sl

Who is the current Prime Minister of India?
A. Manmohan Singh

B. Pranab Mukherjee

C. Arvind Kejriwal

D. Narendra Modi

HRA & IIHH YYTHA DI 82
A. AHIE Rig

B. TUTE oif

C.3Rfdg HoRtard

D. & A

There are spokes in the chakra of our national flag.

TR aT F b W g g
=w

A. 20
B.24
C.22
D. 25



45. ldentify the festival shown in the picture.

TREL e e RE

A. Eid

B. Diwali

C. Dusshera

D. RakshaBandhan

o # faaTu 70 digR &t UgaH &
PAE T b 5 11

A.3¢
B. faard!

C. ¥
D. J&TdYH

46. Name the monument shown in the picture.

A. Taj Mahal
B. Lotus Temple
C. Jantar Mantar
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48.

D. Jama Masjid

7 ¥ fe@Te T WR® &1 94 Jd18u|

A. disl

B. HHA HIiR
C. SR AR

D ST AfSTE

Why is 15" August known as Independence Day?

A. because India got independent from the British rule
B. because India won a war against China

C. because India won a war against Pakistan

D. None of these

15 3T P! W1 feaq & =9 H o ST STl 872
A. Tifeh HRd fofexr I § a4 81 T o

B. A YR A 919 & RIATH g Sielm T

C. Hifeb YR A Ui o R geg Sitar o1

D. 71 q P al

Who mends our shoes?

A. Carpenter
B. Mason

C. Painter

D. Cobbler



49,

50.

is the National Song of India.
A. Jana gana mana
B. Vande Matram
C.Both Aand B
D. None of the above

YRd HT I M 5
A. ST 70T
B. dva HIRH
C. A 3R B Al
D. SRIad H Q DIs g

What is your mother’s mother called?
A. Paternal grandfather

B. Paternal grandmother

C. Maternal grandfather

D. Maternal grandmother

3T HY B AT DI T BT oIl 32
A. g% qIal
B. Uq® ardl
C. HIq alal
D. HIq &Idl



